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FHAERT 90 104 105 209 |Fi FHHT 203 178 164 342|FkET— T H 290 245 193 438 KT 276 314 324 638
ARYHT 189 171 200 371 AT 12,450 11,581 12,455 24, 036|%kHT — T H 170 157 124 281 | K HERT 697 830 907 1,737
JEHT 435 396 457 853 WT=TH 117 137 133 270  KIEHMX 3,760| 4,302 4,482 8,784
T 759 765 774 1, 539 |l ERT 240 247 262 509|#kET Y T H 68 41 51 92
b BHT 390 380 400 780 |fiiF T 3,867 3,884 3,938 7,822 AR 9,980 9,995 9,821 19, 816|FA[/AHHT 377 464 457 921
i T 259 230 211 441 |Fgfar BT 179 194 221 415 BT 258 326 358 684
)T 114 113 115 228’5 HHHT 485 475 463 938 [ Hr T 1,255 1,502 1,473 2, 9755k BT — T H 492 497 525 1,022
KAGHT 628 565 560 1, 125|7LAHT 3,740) 3,876/ 4,034 7, 910|%{R M PHET 348 380 412 7924 LIT Z T H 228 222 256 478
BT 17 10 13 23| HLRmT 3,535 3,592| 3,681  7,273|HRAT 1, 663 1,659 1,800 3, 459(HR/ AT 608 656 671 1,327
E= 201 52 45 51 96|:Z T 629 625 633 1, 258| H T 1, 168 1,345 1, 304 2,649 (L4 m 1, 587 1,879 2,024 3,903
Fn T 209 210 244 454/ i BT 1,371 1, 454 1,548 3,002 HrEnBHiX 4,434 4,886 4,989 9,875| m/\IEHLX 3,550 4,044 4,291 8, 335
Aeimmy 102 65 68 133| KA 157 149 169 318
JUTREHT 190 203 229 432 H SGHT 330 399 452 851 [H- 2 HT 3,002) 2,928 3,217 6, 1454 shHT 444 464 499 963
LI 128 92 85 177| R ERIT— T H 374 387 401 788| K\ AHT 1,215 1,287 1,216] 2, 503|FEikFHT 291 339 341 680
AT 64 58 62 120 HRIT T H 503 518 500 1, 018|/N\AHT 1,311 1,425 1,442)  2,867|HHTHNAT 728 763 796 1,559
TFIHET—T H 152 155 142 297\ ERIT =T H 504 546 543 1, 089 | IEA T 465 543 564 1, 107| R rp BLRT 239 288 288 576
TRIEET =T H 118 136 120 256/ HERATIY T H 322 327 398 725|MERTPE— T H 49 42 26 68| T 1,2100  1,373] 1,431 2,804
THRIEET =T H 112 104 108 212 HRHX 16,236 16,673 17,243 33, 916|M=ATE T H 117 106 98 204 | BT 737 883 913 1,796
TATHETY T A 141 153 161 314 R —TH 325 221 319 540( s thX 3, 649 4,110 4, 268 8, 378
TRIHETE T H 78 63 15 78|41 JE T 3,775/ 3,863 4,069  7,932(MEET T H 33 35 33 68
A FrHT 440 403 463 866 | i T — 1" H 274 315 353 668 ([ IT =T H 22 10 20 30| B BFHT 5,726/ 6,086 6,297 12,383
FI4RAT 22 17 18 35| [T T H 598 593 660 1, 2532 T H 127 131 114 245 E JERT 212 266 286 552
BT 177 171 197 368[ T =T H 893 863 944 1, 807 |4 L HT 1,959 2,043 2,155 4,198 AREFHIX 5,938  6,352| 6,583 12,935
AT 33 24 26 50(<F 2 HT 1,607 1, 604 1,698 3,302|  HIHIX 8, 625 8,771 9,204 17,975
AT 177 140 177 317|FebHAT 1,476 1,428 1,524) 2,952 PN/ 394 405 460 865
ENINTE 501 463 526 989 | a7 T 190 180 185 365 |4 IRy 469 411 567 9783t A WY 543 630 640/ 1,270
YRR 25 17 23 40|\ TARET—T°H 516 505 498 1, 003 | A&l AT 2,317 2,312 2, 368 4, 680| J BFHT 649 775 740 1,515
T 73 60 67 127\ TRET =T H 351 323 366 689| T K MT 237 299 317 61674 5 1] 150 154 148 302
HEAHT 42 39 50 SN TFAHET =T H 510 521 543 1, 064 5 T 976 974 1,004 1, 978|#KJ5UHT 644 739 766, 1,505
[T 370 282 342 624\ THRHETIY T H 384 393 452 845 |FRERIT 542 628 630 1, 258| %% T 382 407 389 796
HHT 157 151 170 321 FRE X 10,574 10,588 11,292| 21, 880|MT =T 380 392 450 8427t [ 44 mT 558 657 662 1,319
ST 2L 599 577 609 1,186 NS0 2,401 2,719 2,798 5517 Iy BHIX 3,320| 3,767 3,805 7,572
LAl 24 26 23 49| Fp=EFRT 2,394 2,494 2,628 5, 122|#7HIAT 156 199 204 403
# LT 501 482 536 1, 018 | By £ERT 43 41 48 89( J\igEHLIX 7,478 7,934 8,338| 16, 272| L-iEHT 275 349 360 709
i 24 30 28 58| b JEHET 3,711 3,733 3,765 7,498 TR THT 156 190 197 387
RS RLET 198 176 168 344 AL BHERT 346 350 416 766 F & my 1,297 1,401 1,423 2, 824 T 7% HIAT 172 216 219 435
JEHT 155 150 147 297 SHT 685 687 698 1, 385| T [ |y 1,928/ 2,085  2,142] 4, 227| FiEHT 424 503 506/ 1,009
AT 393 361 391 752( T EFHT 1,413 1,710 1,692 3, 402 | H 8] T 821 828 929 1, 757| " T 339 441 425 866
PR 19 18 19 37| T ZIRHAT 1,754 1,979 1, 968 3, 947 | LA RHET 472 447 511 958 | V5 £ T ] 419 500 456 956
A AR HT 1,594 1,573 1,710 3, 283| T HEHT 1,093 1,186 1, 209 2,395( X 4,518 4,761 5,005 9, 766 | /\ i JFUAT 400 465 499 964
R T 183 169 174 343 | Hr ik PRT 408 449 445 894 i) 1 H X 2,185 2, 664 2, 662 5, 326
gzl 134 124 148 272|PEIT—T H 575 605 613 1, 218|#hHT 494 559 586 1,145
[l 169 137 161 298| PEET T H 1,322 1,177 1, 420 2, 597 |44 HumT 473 566 586 1, 152(Admr = & 456 501 480 981
B oThT 182 166 219 385|PEHT =T H 621 648 709 1, 357 b8 my 173 189 208 397 | A BHINT HE FH 385 420 411 831
EN) 164 132 143 275|PEETIY T H 672 663 719 1, 38247 JIHT 145 176 190 366/ FriHRATE 179 186 189 375
JEATEAT 108 74 66 140 BLHERT 999 1,012 1,075 2, 087|111 H] 1,215 1, 360 1,423 2, T83| B PN EK 114 126 141 267
N 368 383 435 8181 FH % HIHT 627 615 550 1, 165|FE T AT 381 431 483 914| A BHINT )11 324 331 339 670
L 224 174 211 385| A Hi X 16,663 17,349 17,955 35, 304|% AT 441 509 505 1,014] APHX 1,458 1,564 1,560 3,124
|11 FH T 106 93 98 191 Fldgmy 270 345 346 691
T 89 76 86 162| b/ EHT 810 852 909 1,761 REFHIX 3,592 4,135 4,327 8, 462 FEARMT V4 I = 716 790 866 1, 656
PU 7 T 35 33 35 68| /N 483 564 612 1,176 FEYBIT 4 U 91 98 112 210
GaeLlE 42 33 40 73| LA AERT 2,929 2,893 2,675  5,568| - AEMT 1, 294 1,371 1,425) 2, T96|FEARHTFA 2 IR 282 183 166 349
FEELIT 98 83 77 160| /N EHT 2,277 2,242 2,205 4, 447 |5 KIEmT 307 367 365 T32|FEABIT R 1,055 1,248 1,279 2,527
HAEHT 252 254 275 529| T/ RT 1, 460 1,490 1, 480 2, 970 [ 4RIRrRT 718 888 904 1, T92|FEARMT HH = 433 491 504 995
FERAHT 342 294 313 607 | HLHHEAT 1,376/ 1,374 1,439) 2, 813| FAMAENT 468 532 557 1, 089 FEABMT k& 1,476 1,641 1,707 3,348
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FEHRMT T 825 939 997 1, 936 & HHT /1M 150 183 197 380
FEYBIT 5 ] 341 445 430 875| & HHT (L1 258 293 301 594
BT 216 244 215 459| & FHT AR 505 632 612 1,244
BT 1L 158 182 202 384 EHFHHTHI 291 328 336 664
FEYBHT )1 429 479 501 980 & H-HT 620 742 719 1,461
FEYBIT o B 6 4 5 9| & HMT K 421 535 511 1,046
FEYBHTFIARR 1,018 1,288/ 1,267 2, 555| HHT % 92 120 123 243
FEHBHT A5 1,912 2,061 2, 257 4, 318[FEH FHMT 31 40 40 80
FEHRHL X 8,958 10,093 10,508 20, 601 | HMTHI{R 304 372 374 746
E AT 229 183 218 401
Aty 3,799 4,461 4, 640 9, 101[FH HMT A 35 42 42 84
JEFHHET 1,679 1,918 2,038 3, 956 | HMT AR 8 7 12 19
Ly 588 762 821 1, 583| HHAT L L R 372 462 439 901
By 198 237 249 486 & FHTERIR 47 61 63 124
Filaduf 15 0T 305 323 332 655 | HHT A 1 152 170 176 346
Ky 138 157 165 322| EH T 152 191 197 388
% T FH AT 72 90 101 191| & M7/ R 356 417 428 845
S[E Sy HT 279 397 391 788 HMT HL g 117 148 145 293
TG[E 5y HT 228 313 295 608 & HHTE 193 226 221 447
Je sy 406 433 427 860 | 7 H-HT /N EE 212 261 255 516
TorE BT 3,594 4,180 4,231 8, 411|FH HMT I iz 586 685 693 1,378
AT 1,7300  2,057| 2,097 4, 154|EHHETRESE — T H 340 373 375 748
= Sl 861 1,028 1,057 2,085 MGG T H 395 417 455 872
rhR T 1,538 1,670 1,686  3,356(EH MR =T H 301 412 394 806
T 1,384 1,469 1,518 2, 987| HMT A I 334 372 398 770
v ELHT 487 584 598 1, 182| & HHHT T B 94 115 116 231
R FH AT 637 812 791 1, 603| & H-HT_E B 129 168 149 317
JE T 541 619 663 1, 282| & FHHHTH A 54 64 68 132
TG H X 464 21,510/ 22,100/ 43,610 HHHIX 9,980 11,586/ 11,785 23,371
iy 753 5,800/ 6,098 11,898
IR LIRS 753 5,800/ 6,098 11,898
e HET 086  1,219| 1,251 2,470
P T 884 761 880 1,641
s T 464 523 513 1,036
e Ly 81 46 66 112
BT 34 26 38 64
R BT 406 544 557 1,101
T HELRLET 999 1,118 1,175 2,293
v L LT 730 826 889 1,715
R ELEET 023/ 1,165 1,164 2,329
AGRHE] 889 1,085 1,062 2,147
T 704 804 837 1,641
FIE T 181 212 206 418
+ 3T 184 206 225 431
ERET 327 389 374 763
=Y A-RAT 102 98 106 204
AT 122 137 140 277
Hedn X 8,216/ 9,159 9,483 18,642
E T I 661 718 729 1,447
T H 1,188 1,259 1,322 2,581
EFHH] T RAR 289 326 330 656
AT AR 1,064 1,264 1,347 2,611 WA F 169, 781 181,624 188,254 369,878




